2N sED
Mo YRS YW FA(STHY /5 - 5=
Sl SRAED|IL RS (S91:&8)
- _ — Pl
SN BB S(EA) - MRAY - BES 03] &k o8 St BlRE2
=3 65,923, 366 55,790,041 10,133,325
= 3,739,790
N 51,867,000
o= 10,316,576
2= Y g (sENLM/sY - 5F) 9,969,962 11,039,487 A 1,089,525
= 2,187,666
Xl 5,061,000
o= 2,721,296
S|P A=F 7,706,000 6,229,501 1,476,499
= 1,605,000
Xl 5,061,000
= 1,040,000
sg - s& Z¥Y 28 AM=D 140,000 148,000 A8,000
201 Y EH2 I 10,000 5,000 5,000
01 At 2teltl 10,000 5,000 5,000
OZA=sE HHHEA 2 10,000
202 ¢4l 69,000 79,000 A 10,000
01 =LHOYI 20,000 30,000 A 10,000
ONBEX U BF=0l 20,000
03 =220l 27,000 27,000 0
O=sTAIM HALF =3 27,000
04 2 N3Gl 22,000 22,000 0
OsEAH ol 22,000
203 R F&H] 61,000 61,000 0
03 AIHF=X AR =Y 61,000 61,000 0
OsEMY B = AN T 61,000
SEXNSESFAMLOIE, 28 ,6XH4Y ) (=1) 1,943,000 113,000 1,830,000
Xl 1,918,000
o= 25,000
307 SIZ2t0I A 50,000 0 50,000
N 25,000
o= 25,000
02 SIZHAAMAIHE X 50,000 0 50,000
O=sE4tdst D= - Ot "A += 50,000
Xl 25,000
o= 25,000
403 MRS S K201 A 1,893,000 113,000 1,780,000
Xl 1,893,000
01 AXESHMA2EZR 1,893,000 113,000 1,780,000
Osd&tE Mo - RSI|E 215 XA 637,000
N 637,000
O6xtard st XI& 1,256,000
Xl 1,256,000




2N sED

HE: YRS AW FA(SNYSL/5Y - 5E)

ol sQIEEIIE DS (= RED
SA - ZH - ESA(E) - MRAY - BES 0l st e Rz
Dol2d2sE & HAXNF 2 2,000 2,000 0

202 044l 2,000 2,000 0
01 =LHOYI 2,000 2,000 0
OFTA THZ =& 2,000
SESSENY 43 NJ(=1) 2,437,000 1,162,400 1,274,600
= 1,605,000
o= 832,000
307 212+0I ™ 1,090,000 808,400 281,600
= 555,000
T 535,000
02 IS At E X 1,090,000 808,400 281,600
O6XAA S XIFZZ203 29 L HOt 1,090,000
= 555,000
o= 535,000
403 MRS S K201 A 1,347,000 354,000 993,000
= 1,050,000
o= 297,000
01 AXESHMA2E R 1,347,000 354,000 993,000
OXFHAASAY XA 177,000
= 150,000
o= 27,000
OBXHAHA SR ZH A 1,170,000
= 900,000
o= 270,000
SELMAF LAY 3, 143,000 0 3,143,000
Xl 3,143,000
202 044l 10,000 0 10,000
Xl 10,000
01 S LHOYI 10,000 0 10,000
OsZE S=&aY FX 10,000
Xl 10,000
403 MRS S K201 A 3,133,000 0 3,133,000
N 3,133,000
01 AXISHMA=E X 3,133,000 0 3,133,000
OSELYH SHAY 3,133,000
Xl 3,133,000
sESSENY 2435 N 35,000 0 35,000
403 XA XISHHSXt=01H 35,000 0 35,000
01 AXISHMA=2EEX 35,000 0 35,000
O6XH&tH 3 AISAIEH JIsES 35,000
sXolg2el X 6,000 350, 101 A 344,101
202 044l 6,000 7,000 A 1,000
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A sEY
M ARS YW FA(STHY /5 - 5F)
ool MRSl R4 (EEEEED
- _ - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
FH=sg2de nK(=30) 37,800 50,400 212,600
= 21,000
= 16,800
307 212tol & 37,800 50,400 212,600
= 21,000
= 16,800
02 It A AIHE X 37,800 50,400 A 12,600
OFH=sL3E WS 37,800
= 21,000
= 16,800
2R =O0IAEME 2L9(=21) 741,778 778,390 N36,612
= 487,966
= 253,812
307 eI2tol & 741,778 778,390 N36,612
= 487,966
= 253,812
02 eIt A E X 741,778 778,390 A36,612
OLASAUOIOIAHUE 29 741,778
= 487,966
= 253,812
sz gLE XA (=F0) 60,000 75,000 A 15,000
= 60,000
308 AFAIHMSOIH 60,000 75,000 A 15,000
= 60,000
01 IXSHMBSEES 60,000 75,000 A 15,000
O=U3IM BHA&E N2 60,000
= 60,000
JEsENL 2HEH(SHHLFN/sY - SE) 54,880,624 43,679,754 11,200,870
= 1,552,124
X 46,806,000
= 6,522,500
s2 =& 3% 243 2,276,524 1,776,871 499,653
= 1,337,124
X 93,000
= 846,400
sE2F 2535 =d 237,000 258,200 A21,200
201 224l 40,000 40,000 0
01 At 22l 40,000 40,000 0
QuUsNHAH A TAY KX B2 MH 40,000
202 ol 10,000 15,000 A5,000
01 =W ol 10,000 15,000 A5,000
SEDD 265 AR 10,000
307 212tol & 40,000 58,000 A 18,000




SN sHD
X ZXH- 2
[ [=}

Ciol SE - =& 2 BEE CLEED
SA - HH SR (B) - MRAY - BAS il &t e imE=T

02 SIZtAAMAIHE X 40,000 58,000 A 18,000
O=Z& HE&JH HAEE =& 40,000

308 XXM SO0l 147,000 115,200 31,800

01 AXSHMBAEES 147,000 115,200 31,800
OsZEAHEs2dits MEgss 28 N3 30,000
CIEIT R 117,000

sE2g 833 FA(22) 48,800 48,711 89
= 48,800

308 A XISHH SOl 48,800 48,711 89
= 48,800

01 AXHMBAEETS 48,800 48,711 89
O=s0ERIE MUIA - MM IS 43,800
= 48,800

sEMEFL0E E4(=22) 927,124 780,860 146,264
= 733,324
Xl 93,000
= 100,800

307 2I2tol & 5,000 0 5,000
= 5,000

02 SIZtAAMAIEE X 5,000 0 5,000
O=EMas20s 2224 X2 5,000
= 5,000

308 A XISHH SOl 829,124 780,860 48,264
= 728,324
= 100,800

01 AXSHMBAEEZ 829, 124 780,860 48,264
OsENEEANS ANRE WBNE 724,200
= 623,400
& 100,800
OsENEEANS A2 DS 32,910
= 32,910
O=EMEs20s 28It K& 72,014
= 72,014

403 XXM S X201 & 93,000 0 93,000
Xl 93,000

01 AXSHMA2E T 93,000 0 93,000
OsEaZ3so ot =4 93,000
Xl 93,000

SESSHEIAMN 8243 X(=21) 137,500 137,500 0
= 125,000
& 12,500

308 KHXISHHSOI& 137,500 137,500 0
= 125,000
& 12,500




SN sHD
X ZXH- 2
[ [=}

T (sl @ 2)
SA - ZH - ESA(E) - MRAY - BES 0l st e Rz
01 IXEHBAEES 137,500 137,500 0
OsZ=ZsHaAt 243 X3 137,500
= 125,000
< 12,500
HsHE 835 =8 330,100 191,600 138,500
307 212+0I & 50,000 20,000 30,000
02 QIS At E X 50,000 20,000 30,000
OFs HE &Y =HEgsl 20,000
OH= HE FFEXNIANE 29 30,000
308 AtXIHHSOIH 280,100 171,600 108,500
01 IXEHBAEES 280,100 171,600 108,500
OF=s FE HEgEZ2IY 24 21,600
o= B 258,500
CANY sERX X(21) 596,000 360,000 236,000
= 430,000
= 166,000
307 glz2tol & 200,000 0 200,000
= 100,000
= 100,000
02 QIZHAAMAIEE X 200,000 0 200,000
OEANE sERX XN 200,000
= 100,000
= 100,000
308 AtXIHHSOIH 396,000 360,000 36,000
= 330,000
= 66,000
01 UAXSHHBAEES 396,000 360,000 36,000
OEANE sE%RX A& 396,000
= 330,000
< 66,000
SE2ED|E BE 1,077,600 309,383 768,217
Xl 898,000
< 179,600
SEH OIS A(21) 1,077,600 0 1,077,600
Xl 898,000
= 179,600
403 MRS S K201 A 1,077,600 0 1,077,600
Xl 898,000
o= 179,600
01 AXISHMA=2E L 1,077,600 0 1,077,600
O=Z HO=SA =4 1,077,600
Xl 898,000
= 179,600
SENS N 51,526,500 41,593,500 9,933,000




A sEM
BE: YASENL A (SYHYLN/5Y - 5&)
ol SENG R (el 8 d)
I3 g9 (3) - NTAE - B 0f &t o e 52
= 215,000
X 45,815,000
S 5,496,500
SESHN 43 (210-s 36,214,000 30,940,000 5,274,000
X 36,214,000
403 A XIEHHSK=01H 36,214,000 30,940,000 5,274,000
N 36,214,000
01 HXSMA2E xR 36,214,000 30,940,000 5,274,000
OdEX+ 840,000
X 840,000
CEL-INE 24,853,000
X 24,853,000
OUISAGHASE 10,521,000
N 10,521,000
XA 0t2 2SI1(21) 5,310,000 452,000 4,858,000
X 5,310,000
403 A XIEHHSK=01 S 5,310,000 452,000 4,858,000
X 5,310,000
01 HXSMA2E xR 5,310,000 452,000 4,858,000
oltssen 162,000
N 162,000
onASe e 2,218,000
X 2,218,000
Ozs23=NX 834,000
X 834,000
OMgA~s 676,000
X 676,000
O 24 el 1,210,000
X 1,210,000
OsMsENE0s =4 210,000
N 210,000
NE=EEn)) 4,059,000 2,606,000 1,453,000
X 4,059,000
308 XHXIEHH SO A 525,000 0 525,000
N 525,000
01 IXSHMBYEES 525,000 0 525,000
OANlzZsgZat 525,000
X 525,000
403 XtXIEHHS =01 A 3,534,000 2,606,000 928,000
X 3,534,000
01 XM= EE 3,534,000 2,606,000 928,000
OAlZF2 3,534,000
X 3,534,000
EXXAAMNS(RD) 232,000 156,000 76,000
X 232,000




SN sHD
X ZXH- 2
[ [=}

O
11
0
U

= = — AN L=
CHE SR (S) - HRAY - BAS il &t e imE=T
403 MRS S K201 A 232,000 156,000 76,000
Xl 232,000
01 AXSHMA2E R 232,000 156,000 76,000
OF XSG A 232,000
Xl 232,000
sZ& 8&3Ed X(=21) 201,500 201,500 0
= 155,000
= 46,500
308 AtXIHHSOIH 201,500 201,500 0
= 155,000
& 46,500
01 IXEHBAEES 201,500 201,500 0
O=&=8&dELg XN 201,500
= 155,000
= 46,500
sSE24s NAMEH 22 XN (2D) 120,000 102,000 18,000
= 60,000
= 60,000
307 SIZ2t0I A 120,000 102,000 18,000
= 60,000
& 60,000
02 SIZtAAMAIHE X 120,000 102,000 18,000
O=Z=datXddyH XI& 120,000
= 60,000
= 60,000
2J18E MsHEAER2S 202 2Xt8I X3 1,800,000 3,600,000 A 1,800,000
403 XXM S X201 & 1,800,000 3,600,000 A 1,800,000
01 AXESHMA2E R 1,800,000 3,600,000 A 1,800,000
OMs0HE 220t2 2XHEI XA (144 H) 1,800,000
SHEE sE0ts 2¢=D| 3,590,000 0 3,590,000
201 Y EH2 | 25,000 0 25,000
01 ALR 22| 15,000 0 15,000
OX2t 24d & sENE 202 Al 15,000
03 A2 Z I 10,000 0 10,000
oot NEX fIg%u=s 10,000
202 (44l 15,000 0 15,000
01 =LHOYI 15,000 0 15,000
Ostsd &0t 2¢sI| F&A 15,000
307 2I2+01 A 30,000 0 30,000
02 SIZtAAMAIEE X 30,000 0 30,000
oorztaiol s =29 30,000
403 XX SH M S X201 & 3,520,000 0 3,520,000
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